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Mathematik |
Klasse: Datum:
Implizites Differenzieren
Aufgaben Lésungen
Bestimme die Ableitung a) (1) f(x) =In(x) | el
durch impliziertes Diffe-
renzieren! x=e™ | (...)'
a) f(x)=In(x) 2) 1=e™.f(x) | ref®
b) f(X): rz _Xz (3) f’(X)= f](-x) - Ir:1l-(x) :l
c) f(x)=arcsinf) € € X
d) fx)=x" b) (1) f(x)=vr*—x? | (...r
&) )= xP (F)) =r* —x* | ()
(2) 2f(x)-f'(x)=0-2x | :2f(x)
—2X 1 1
3 fliX) — - —— =
S 2f(x)  f(x) 22
c) (1) f(x)=arcsink) | sin(..)
sin(f(x)) =x | (...)
(2)  cos(f(x))-f'(x)=1 | :cos(f(x))
1 1 1
B) flx= = =
cos(f(x)) Jeos2(f(x)  y/1—sin?(f(x))
_ 1 _ 1
J1-sin?(arcsin(x))  V1-x2
d (1) f(x)=x* | In(...)
In (F(x)) =In (x* )=x-In(x) (.
(2) i-f’(x)=1-|n(x)+x-l=In(x)+1 | -f(x)
f(x) X
(3) () =F()-(n(x)+1)=x*-(In(x)+1)
e (1) fg=x i
(f(x))? =x° | ()
(2)  a(f(x)*"-F(x)=p-x"" | 1q(f(x)"™
: p-x"" p-x""
(3) 0= = -
q(fx)*™ g (x p/a )q
o o8] _p s p 2
q q q
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